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* General Instructions:
i1, All questions are compulsory. :

2 The question paper consists of 31 questions divided into four sections A, B Cand D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

WUZ-31 / SECTION-A
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Question numbers 1 to 4 carry one mark each.
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‘Factorise:xz—Bx.
3 AABCH, af% LA—- /B=63°" 3R LB—,C=18°%, R, BH WO FE HIOGI ’._‘1‘ *
In AABC, if ZA— ZB=63° and £B— ZC=18°, find the measure of £B.
A TR 1 AEe 84 em? 3R T el 12 cm ¥ g gE ol s AR N

The area of a rhombus is 84 cm? and one diagonal is 12 cm. Find the other diagonal of the \
rhombus. ‘

TUS-§ [/ SECTION-B
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Question numbers 5 to 10 carry two marks each.
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Ifz = 0.064, then find the valueof(é)e'.
N TR A2 — 16x + 28 F | TN 921 Y A1fh TGIE 1 U e 1 &) WIg? ; S ke o2

What should be subtracted from the polynomial x2 — 16x + 28, so that 1 is a zero of the
polynomial ? '

\/ o H, ZAOB: ZBOC=2:3%| 3k ZLAOC=75°®, &t LAOB 3iR/BOC %% oM 3 Fifom) 2
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In the figure, ZAOB : ZBOC=2 : 3. If ZAOC=75, then find the measures of ZAOB and
£BOC.

0 c
<8 s PQR #, QO 3R RO %9¥: LPQR 441 /PRQ ¥ WHRGW® 70 ¥HK § i LPQR=/PRQ 2
"8k £PQO=~«PRO ¥ TWigT f&F LRQO=~2QRO®! :
In a triangle PQR, QO and RO are the bisectors of ZPQR and ZPRQ, such that ZPQR=/ZPRQ .
and ZPQO = ZPRO. Show that ZRQO= ZQRO.
Yo um g wifay fos W (3, 2), 2, 3), (-4, 5) 3R G, -3) ¥ ' 2
Draw a quadrilateral whose vertices are (3, 2), (2, 3) (—4, 5)and (5, —3). -

10— UF THiEAE PN 1 e 9 HIY, FwEt O qon oHe qeneli § 4 vAF ¥ 0 cm Sfuw E 2
dent foree IR 100 cm #1

Find the area of an isosceles triangle whose one side is 10 cm greater than each of its equal
~ sides and its perimeter is 100 cm.

@Ug-H / SECTION-C
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Question numbers 11 to 20 carry three marks each.

A, I i i P e A e i P il s S e ,wma. +
_ @ w&x=3+2ﬁ%ﬁfﬁ+%wqﬁmﬂaﬂﬁm o
If x = 3 + 242 ; find the value of Jx + -}_;

377 e (T frefr SR 3

Locate /13 on the number line.

\}3/A e a+b=10 3R a2+ b2=58 8, T a3+ b3 F HF F I el - g

If a+ b= 10 and a2 + b2 =58, find the value of a3 + b3,

' Y TEUE 24 +33+ 332 + ax— 10 e Forarer Farft g2 — 20— 1 R v S T Yowe § WA 3
fafaw

By long division write the quotient and remainder, when 2x%+x3+3x2+4x—10 is divided by
x2=2x—1.

A o R 9 st fafew o - LT

Wrile any Three Euclid's Postulate.

37 wpfi ¥Rk PQR=£PRQY, Tifim Hfwe fF LPQs= 2PRTE 1 e
P

A~
Y
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In the the figure, if ZPQR= éPRQ, then prove that ZPQS= ZPKE:

A7~ far#, AB|CD & wen e T 1, AB 3R CD %! %H¥: Aaﬂxcmm%uﬁnhuﬂwc% 3
WWWPWW%I ﬁmaﬁfmﬁzm =90° ¥

v

Y

In the figure, AB||CD and a transversal ] cuts ABand CD at A and C respectwely Bisectors of
/A and £C intersect each other at P. Prove that ZAPC=90°.

: M'%qﬁ,aﬁABHCDnEF%,ﬁl(y—x):(y+x)s{maﬁﬁv:q: ' : [y . 3
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- In the given figure, if AB||CDJ|EF, find the value of (y—x): (y+x) :

AP Q B

50° 80° .
g N Ags
™
" E T K

\z{ fiig A(2, - 5) %I ®wia da H RifEa Hifog | o5, o A & g @ ae SRR B AR 3
B aefEd HI o, gt F A SR B % e A sTeifea F

Plot a point A(2, — 5) on the cartesian plane. Now, change the sign of its ordinate and call it B.
Plot B. Now, plot reflections of A and B in y-axis.

| -4 & & s #, mm@mgﬁaa%,mﬁawmcmtmmmwnmm afg 3
_ BD = 8 cm ¥, T SHifha YR &1 &AFS F1d ity |

(V3 = 1.73 %1 WM L )
A

BT c

In the given figure, AABC is an equilateral triangle with side 10 cm and ADBC is right angled
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“atD. IfBD = 8 cm, find the area of the shaded portion. (Use v3 = 1.73)

@Ug-g / SECTION-D

T WA 219 31 H Yok % 4 3 €
Question numbers 21 to 31 carry four marks each.

= s Ly e Bvin
fog S fe: —2 & - 4
, a4bl alep! pla? .
a1 " a’l _ 2b?
a l4p1 a l-p! p2—a?

Prove that

2 WY a'{m’iﬁw#@ra?fl‘q'ftﬁﬁim o
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v)  faveE o g den ¥
Sig o e

" Give an example of two irrational numbers whose :
(i) dif fereﬁce is a rational number.
(i)  sumis a rational number.
(il ;.7 product is a rational number.

(iv)  division is a rational number.
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. ﬁx—?’aﬂ'{lx— % ﬁ@qﬁ-;.n.xz+3x-+r.%{["ﬁ'@"é§, ?ﬁmféﬁp:rél

v & S R R R, (= 197 4+ (= 2)+ (3% + (~ 4P+ 2(5)° T A v g fore

]ustlfy also.

(x+y)3+(y+z)3+'(z+x)3—3(x+y)(y+z)(z+x)=2(x3+y3+z3—3xyz)
Prove that :
;.y+y)3+'(y+z)3+(z+x)3—3(x+y)(y+z)(z+x)=2(x3+y3+z3-—3xyz)

IIUF!'@E'-I g ®m wam %@ e smee fF (m-n), (n-p) 3R (p—m), EE.
m(nz—pz)-i-n(pz— 2)—*—p(mz—nz) %W’E%I - r
Using factor theorem, show that (m-n), (n- p) and (p—m) are factors of
m(n?=p?) +n(p?- m?) + p(m?—n?).

If x=3 and x— % are factors of the polynomial px%+3x +1, show that p=r.

et H WA g0 €, 9% it fafe)

Without actually calculating the cubes, find the value of (=1)>+(=2)*+(~ 33+ (-4 +2(5)°.

- Also write the identity used.
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There is a triangular park PQR whose angles P,Qand Rareinratio2:4:3 respectively. Three

friends Rashmi, Sita and Geeta go daily on morning walk and walk along these three side PQ, .
OR and PR respectively. Who walks maximum distance among these three ? Who walks
lzast? Why morning walk is necessary for us ? :

el T T R T G §1 AR ST R 5 Preim W o S T8 YR R e i

o e W gfes wEqea F e T sifaRe g % @ wdae fafew

sunil and Shyam have the same weight. If they each gain Weight by .
5 kg, how will their new weights be compared using the axioms ? Write the Euclid's axiom that best

supports your answer. Also give two more axioms other than the axiom used in the above situation.



x5 ¥ ABIICD, CDI|EF # W91 EA L AB #1 7R /BEF=45"%, A x,y Mz TomEw 4
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In given figure AB||CD, CD||EF and EA L AB. If ZBEF=45° find the values of x, y and z.

4 & A
AT = zy/|E
450
iy
2
S T F RN 43 b e A ) Wi e TR T e et 4

Hie vlus of a triangle are in the ratio 2: 4: 3. Find the largest angle of the triangle.

= o ..%B%W(x-40)°,(x-20)°aﬂ?(§-10)°it xmmmﬁmmﬁaﬁﬁﬁm' 5

T Ty

The anyles of a triangle are (x—40)°, (x—20)° and [% - 10) . Find the value of x and then the

anglcs of the triangle.
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